
Code: 208/ET/R/BL 

FACULTY OF COMMERCE 
B.Com. V-Semester (Regular/ Backlog) Examinations, Nov./ Dec.,-2019 

Cost Accounting 
Time: 3 Hours        Max Marks: 80 

                                                     Part - A (Short Answer Type)                                     6 x 5=30M 
Note:  Answer any SIX of the following questions in not exceeding 20 lines each, in case of theory  
   questions. 
 
 

1. Explain objectives of cost accounting. 

 

2. What do you understand by ABC analysis? 

ABC 

3. State the features of overheads. 

 

4. Distinguish between job costing and unit costing. 

 

5. From the following information prepare statement of cost. 

 

 
(Rs.) 

Direct materials  90,000 

Direct wages  60,000 

Factory overheads  20,000 

Administrative overheads  10,000 

Net profit: 25% on sale . 
6. Find out EOQ from the following information. 

EOQ 

Annual consumption of material : 6,000 kgs. 

 
Ordering cost per order: Rs.20. 

 

Cost per kilogram of material: Rs.10. 


Storage cost: 10% of inventory.
 

7. From the given information calculate the amount of profit to be transferred to profit and loss account. 

 

Estimated profit on a contract: Rs.80,000 

 

Work certified: Rs.4,80,000 

 

Contract Price: Rs.5,00,000 

 

Retention money: 20% of work certified. 


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8. Find out the value of abnormal loss from the following. 

 

Normal output: 500 units. 

 
Normal cost of normal output: Rs.10,000 

 

Abnormal loss: 20 units 

 
9. Cost centre  

10. Taylor Piece Rate Method  

 

 Part - B (Essay Answer Type)                                      5 x 10=50M 
Note:   Answer the following questions not exceeding 4 pages each, in case of theory questions. 
 
 

11. a) Distinguish between cost accounting and financial accounting. 
 

OR 
  b) Explain the steps involved in installation of cost accounting system in a manufacturing 

organization. 
  

 
12. a) What is inventory control? Discuss the various techniques of inventory control. 

 
OR 

  b) The following data pertain to material X: 
   X
  Reorder period: 3 to 5 months 
   
  Consumption Rate : 
  Maximum: 150 units per month 
   
  Minimum: 50 units per month 
   
  Normal: 100 units per month 
   
  Reorder quantity: 200 units. 
   
  Calculate: 
   

i) Re-order level , 
ii) Minimum stock level , 
iii) Maximum stock level and  
iv) Average stock level . 
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13. a) The following particulars apply to a factory where X, Y and Z work. 
X, Y Z  
Normal rate per hour: Rs.50   
Standard time per unit: 12 minutes   
In a 40 hour week, the actual output was as under: 
 
X: 166 units;     Y: 200 units;     Z: 220 units. 
XYZ 
Calculate the earnings of workers under:   i). Straight piece rate system   and   
                                                            ii). Merrick’s multiple piece rate system.  
i) 
  ii)  

OR
 b) Lishanth Company Limited has three production departments P, Q and R and two service 

departments M and N. The overhead distribution summary gives the following details: 
   P, Q, R M, N

  

 
(Rs.) 

P 20,000 
Q 16,000 
R 12,000 
M 8,000 
N 5,000 

  The expenses of service departments are to be distributed among production departments using 
the following bases of apportionment: 

   

 
P Q R M N 

M 40% 30% 20% -- 10% 
N 30% 40% 10% 20% -- 

  Reapportion the service departments overheads to production departments under simultaneous 
equations method.

  
  

14. a) From the following information, prepare a statement showing cost and profit per unit. 

 
Direct materials Rs.9,00,000   
Direct labor 1/3rd of direct material cost  
Direct expenses 1/5th of direct material and direct labor cost 
 
Factory overheads 1/9th of prime cost 
Office overheads 1/4th of works cost  
Selling overheads 1/10th of cost of goods sold 
 
Units produced 200  
Units remain unsold 1/10th of units produced 
 
Profit 1/6th of sales 
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OR 

 b) The following information were obtained from the books of a company in respect of Job-786. 
   
  Materials : Rs.10,000 

  Wages : 
  Department-A: 81 hours @ Rs.4 per hour 
  -A 

  Department-B: 54 hours @ Rs.3 per hour 
  -B 

  Department-C: 27 hours @ Rs.2 per hour 
  -C 

  Variable overheads : 
  Department-A: for 5,400 hours Rs.10,800 
  -A 

  Department B: for 2,000 hours Rs.4,000 
   B 

  Department-C: for 1,000 hours Rs.1,000 
  -C 

  Fixed overheads: Rs.6,000 for 12,000 hours. 
   

  Calculate cost of Job-786 and also its selling price if profit is assumed to be 10% on selling price.
  
  
 
15. a) The following information for the month of March, 2018 has been ascertained from the costing books 

of a manufacturing company relating to a product which passes through two processes X and Y.
XY


 
Process X Process Y 

Materials used (Rs.) 16,000 6,000 

Direct labor (Rs.) 24,000 16,000 

Works expenses (Rs.) 3,344 2,780 

Input @ Rs.8 per unit (units) 4,000 -- 

Output (units) 3,900 3,850 

Stock on 1st March (units) 400 600 

Stock on 31st March (units) 300 800 

Valuation of opening stock per unit (Rs.) 

 19 26 

Normal wastage on input  2% 5% 

Scrap value of wastage per unit (Rs.) 1 4 

Prepare Process Accounts and Process Stock Accounts for the month. 


OR
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
  b) From the following data relating to a contract extracted from the books of a company as on 

31.3.2018. Prepare contract account and show how much profit to be transferred to profit and 

loss account. 

  
   

 
(Rs.) 

Materials issued to site for work  90,000 

Wages paid at site  50,000 

Salaries to supervisors at site  5,500 

Plant issued to site  75,000 

Work certified for payment  1,76,000 

Work uncertified  9,000 

Cash received  1,58,400 

Sub-contract cost  6,850 

 

  Further information : 
i) The work on the contract commenced on 1.10.2017.


ii) One week wages and one month salaries are due at the end of the period.


iii) Depreciation on plant at 10% p.a.


iv) The value of materials at site on 31.3.2018 amounted to Rs.4,200.


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